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Booklet Code-81

ASSISTANT ACCOUNTS OFFICER (CIVIL) RE-EXAMINATION, 2014

JULY, 2017

COMMERCIAL AND MANAGEMENT ACCOUNTS

Time Allowed : 2 Hours

Maximum Marks : 65

Notes:—

. This question paper consists of 3 pages and 7 questions.
. Question Nos. 1 and 2 are COMPULSORY. Attempt any 3 of the rest.

. Candidates should write the Booklet Code No.of this question paper on their answersheet in the space provided.
. In the table provided on the front cover page of the answer book, indicate the page number of the answer

1
2
3. Show working notes clearly.
4
5

book where answer to each question or part thereof is written.

6. Do not use different pens/ink for answering questions. Doing so may render the answer script invalid.
7. Strike off all blank pages/space in the answer books.
1. (a) How the accounting information is used by different stakeholders (any five stakeholders)?
(5 marks)
(b) The following were the balances extracted from the books of Amir as on March 31, 2017.
Debit Balances Amount (%) Credit Balances Amount (%)
Salaries 20,000 Sales 1,25,000
Opening Stock 6,000 Capital 60,000
Wages 9,000 Rent 5,000
Fuel and Power 5,000 Sundry creditors 10,000
Purchases 45,000 Return outwards 1,000
Cash in hand 1,800
Cash at bank 3,500
Return inwards 700
Carriage on Purchases 2,000
General expenses 2,500
Insurance 500
Drawings 5,000
Sundry debtors 15,000
Freehold Land 25,000
Machinery 25,000
Building 30,000
Patents 5,000

Taking into account the following adjustments, prepare trading and profit and loss account and

balance sheet as on March 31, 2017:

i) Salaries for the month of March, 2017 amounting to 2,500 were outstanding.

ii) Rent receivable T500

iii) Stock in hand on March 31, 2017 was ¥7,000.
iv) Machinery is to be depreciated at the rate of 12% and patents @10%.
v) Insurance includes a premium of ¥200 on a policy expiring on September 30, 2017.

(15 marks)
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2. (a) () Whatis E.0.Q? What are its assumptions? (1+2=3 marks)
(i) Determine E.O.Q. with the help of following:- (3 marks)
Annual Inventory requirements : 6000 units
Cost per unit (other than carrying & ordering cost) : 35
Carrying cost per item for one year ¢ ¥l
Cost of placing order _ . %60
Alternative order size : 6000 or 2000

(B) (i) What is break-even chart? What are the assumptions for break-even charts?
(1+2=3 marks)

(i) Calculate break-even point (in ¥) with the help of following information:

Cost : %70,000
Fixed cost : 328,000
Sales : %1,00,000
Also calculate margin of safety (5 marks)
(¢) What is prime cost? (1 mark)
3. (a) Pass journal entries for rectification of following errors in the books of A. (6 marks)

(i) Credit Sales to Ramanathan for ¥25,000 has been posted to Swaminathan’s A/c.
(ii) Sales of old furniture for ¥1,000 has been passed through Sales book.

(iii) Payment made to X & Sons ¥20,000 was posted to their credit ¥2,000.

(iv) Goods returned by ABC Ltd 5,000 has not been entered anywhere.

(v) Credit Sales to Aman 325,000 was wrongly entered in purchase book.

(vi) Payment of proprietor’s pesonal dues ¥1,200 has been debited to General Exp. A/c.

(b) (i) What are the sources of issue of Bonus Shares? (Partly & fully paid up). (2 marks)

(i1) What are the journal entries that are passed for issue of fully paid up & partly paid up Bonus
Shares? (2 marks)

4. (a) State the importance of Financial Statement Analysis. (4 marks)

(b) The original cost of the asset is ¥5,00,000. The useful life of the asset is 10 years and net residual
value is estimated to be ¥50,000. Calculate the Rate of Depreciation using Straight Line Method.
(4 marks)

(¢) Explain the concept of Accounting Standards. (2 marks)

5. Complete the Balance Sheet given below assuming only equity capital & retained profit figures are
given.

Liabilities Amount Assets Amount
Equity capital 3,00,000 Fixed Assets -
Retained profit 3,00,000 Inventories -
Creditors - Debtors -
Cash .
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Further information
(i) Total debt is 2/3 of Net worth.
(i) Total Sales - 18,00,000 (Assume 360 days in a year).
(iii) 30 days sales are in the form of debtors.
(iv) Turnover of inventory is 5.
(v) Cost of goods sold in the year is 9,00,000.
(vi) Acid test ratiois 1:1. (10 marks)

6. (a) State the treatment of following items in Cash Flow Statement as per AS-3.
(i) Acquisition & Disposal of Subsidiaries. (3 marks)
(ii) Interest & Dividend. (3 marks)

(b) ABC Ltd provides following information. Calculate net cash flow from financing activities.

(4 marks)
31st March 2016 31st march 2017
Equity Share Capital (X10 each) 50,00,000 70,00,000
9% Debentures 5,00,000 --
10% Debentures -- 10,00,000
Additional information
(i) Interest paid on debentures ¥45,000
(ii) Dividend paid ¥2,00,000
(iii) During 2016-17, ABC Ltd issued Bonus
share in 2:1 by capital reserves.
7. (a) Explain the following concepts of accounting:
(i) Double entry system (2 marks)
(i) Accrual basis of accounting ' (2 marks)
(iii) Conservatism Concept (2 marks)
(b) Explain the importance of Cost Accounting to the management of a company.
(4 marks)
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